Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub 1D....) OPAQUE X XX PANOLOCK - IMPACT\C - Drawings\TX-5216.dwg

POWERED Bvlg
il

ENDURA.

DOOR COMPONENTS MADE IN THE USA

Panolock Multi-Point Lock

in a Single or Double Door
INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 Interational
Residential Code {IRC), Sections R301 & R409 and the 2018 international Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
o base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for instaliation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996,

3. Allowable design pressure requirements must be equal o or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Sections, Design Pressures & General Notes
Door Panel Details

Elevations

Vertical Cross Sections

Horizontal Cross Sections

Frame Anchoring

Bill of Materials & Components

NHON OB W INY [

Panolock Multi-Point Lock

Fgm:z vACﬁH = 73.97" MAX. FRAME WIDTH
2
9 <3
<z O>3
o2 %2
= <€
= = e
20 =wm X (] X ® X
Y Sw
— =
o) <
x
MAX DESIGN PRESSURE (PSF)
CONFIGURATION|  FRAME INSWING OUTSWING
DIMENSION | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
X 37.47"x81.94"| +65.0 -65.0 +65.0 -65.0
XX 73.97"x 81.94"| +55.0 -55.0 +55.0 | --55.0

1)
o
S 0
T
T T
£ B ze
wu UM oY
n £ G
w N
o
e - 43k
9 £33
: Zz
BE 223 oo
B Jg0 hE
23m @E
z R ad
. O%m 85
) O b
oxz &
H z8, Ou
L =) o o]
g2 J .5 o
o 50¢ !E}*_’
i 5 0 N 05
§ g
] ™
5 &
£ e% i
pe] go
O
O
o
)
=i
OO
GZ
Lu—l
o
P
oyl
< ZZ
oc L Ol
2 |5 E®
g | ©
= 0
L ol o
al i
< <o
e OD
o x ah
a S
o el &
©
& P
P
m
D
Z
Q
2]
o
=
<t
[
o
=z
ATE: 6/17/21
SCALE:  N.T.S.
DWG. BY: RW
cHK. BY: LFS
DRAWING NO.:
TX—-5216

SHEET _1 oF _7

© zoz1 rRoW. BUILDING DONSULTANTS INC.



‘ON SANVLINSNGD GNIaing "m'sd 1202 @

ZS8LL—d # NOUVNISIONN 40 ILVOIJILNED STvLIa SNOISIAZY
SHIINIONT IWNOISSIHA0Md 40 ONVOS SvXIL Ad Jlvd [ON]
TANVd 4004 N|Gi|P] o 7_
LELE'6GO'CLE UON euoyd : . =
G6GEE 14 OOWIBA OEZ X8 "O'd \Sug. KTAN3SSY d0 1Hvd ,_.W M I N
"ONI ‘SINVLINSNOD oNIgling W . g W_ 2_
LBl &l
SZLPOLF “I'd SVXIL Vanana EIPIME &
Il IPIWYOS 4 uopuk :Ag peipdesd sjuswnosoq 19NQA0Yd 5 Z 5 w &
5o . )
AN TR
P LA R SXTTTTTPIN P
g LOINHOS 4 NOGNAT 2
Ww* . ‘ﬁ:oo:oa.oo":-)u
¥ Sk £~
@, % SXE
NNNNM\W\%N:PZ.:MW-W&(@
m..ﬂ.wﬂabhmg .h»)..)u.lﬂf
AATA AR
« j—-— :mN._. - (e~ :N.—. B - :N.— -
= a@
! T= I 2
S > i o : E
> - & Z
S =3 2 O =3
23 N W O o) W = (oNe)
N oo & % < EQ
o e Q-
©
A\
=z
\ O
/ e
—\\ 2
. « .
- — Tl‘m.m o ¥
,, s Z ; =z
= o < £<
o o i ® o .M m
& ) & S o Q 5 &
(] ! L - A
O g »B Qoo Sz
2 C z R Y | olgg 2@
“ X 3 AR %. ¥ ..
<| O o B2
. o ~—t 20
: S O 30
I o i o=
> Fra) F<
- o bl 0 O
=t L o
(o]
WSC 6L

Bmp'gLzs-X\sBuimeld - D\LDVIINI - ¥DOTONVd XX X 3NDVIO (A1 ans) XXXX-Hd - 1Q1\su} Jo 3daq sexa] - §\ININVINYId Binpuz\siusid\Z



‘ON| SLNVLINSENOD ONIGTUNE "M'Y 1202 §

ZS8li—4 # NOLVMISIOR 40 ALVOLIILYIO SNOISIATY i
SHIANIONI TWNOISSIA0¥d 40 Quvod SvxXil SNOULYATTT Ad 31vd [ON Slilzlnl o 7_
0 e
LB16'659°CLE *ON 8ucyd : NSl Sl s
CBEEC i oomDr 057 o8 oy \vam XTEN3SSY 90 Luvd N S|
"ONI 'SINVLINSNOD ONIQTNG W e M _vw 3~
; S
CZLYOL# ‘I'd SVXAL VANand i M s|x|X ,w
T'd IPIUYOS 4 UOpUAT g padpdald sjuswinsog 110N00¥d 218121818 z
‘2729

h S SUT

ELEVATION
XX

@

q

p
(3N (2
4/

q
X
ELEVATION
X

~
P
D

Bmp9LzS-X1\sBumeIq - D\LDVAINI - XDOTONV XX X INDVAO ("l gns) XXXX-¥a - 1A.L\su} Jo 1daq sexa) - S\LNINVINYId enpua\siuld\z



CON BANVLINSNDO aNiating "m*°y 1zoe @

ZSBLL—d4 # NOLVMISIONN 40 3LVOLLLNZO SNOISIAGY

SHITINIONT IVNOISSI0ud 40 auvos SvXal SNOILOIS SSONI TVILLYIA A8 31vd [ON Sldslo] o 7_
ool vl
LE16°6G9°CLE I"ON euoyd : NS o w
C6SEE 14 OOUIOA OSZ XOH ‘O E\&u TKTENISSV ¥0 Lavd N M LN 8
"ONI ‘SINVLIINSNOD ONIGTING NN L 4_
REAEAER

SZTLYOL#F I'd SVXIL Venani ) m AL B
‘Td IPIUYOS 4 uopuky Ag peapndeld sjuewinoo(q 110NaoNd 218 W 5 m =

SINGLE DOOR CONFIGURATIONS.

NOTE:
1. SILL ANCHORS ARE NOT REQUIRED FOR

EXTERIOR

R

AN

TR E

INTERIOR

/" 3"\ VERTICAL CROSS SECTION

\_4_/ Outswing sl

ANISO

S

B /—DRYWALL

INTERIOR

A\

Fi
£
#

'!
Fi i
.
i

3

/"1 "\ VERTICAL CROSS SECTION
W Outswing shown {inswing similar)

/ \
(]
® =
z Q 3
e} =
0 T‘r 6 & O
& ) 2 0 E
= (o) &
x a
- ® S
= (%)
=
N, mw
5
2 ! Wiz
: &
on
o W
m_
Z

Bmp9LZ5-XL\sBumelq - D\IDVAINI - XDOTONVd XX X INDVAO (Al gns) XXXX-¥Q - 1aL\suj o 1daq sexa] - E\LNINVINYId BINpusIudIDNZ



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub I1D....) OPAQUE X XX PANOLOCK - IMPACT\C - Drawings\TX-5216.dwg

DRYWALL "\

%’"’ljg
I

INTERIOR

A\

EXTERIOR

®

LANRL

A\

EXT. SHEATHING k

/"1 "\ HORIZONTAL CROSS SECTION

w Outswing shown {Inswing similar)

/3 "\ HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

0.15"

C'SINK "”

V&

INTERIOR

A\ Y

/— DRYWALL

®

m HORIZONTAL CROSS SECTION

EXT. SHEATHING

\5J Outswing shown {Inswing similar)

i
'\"‘"\\:\“\“1 a R
’;S}"K 5 Iy ¢7:; )
G i 0o o
o G £ & wao
e iZ £% 2 ge
L i Su o &~
§ :Q e 27z
bt 13 [ “.__;YS 0]
o4 ju s EBh5 %=
ul izi o %289 33
o G e 2o 909
)y B iAE 2 S50 OE
?3\’.5;%._ :g_ﬁ > 0
U wiS 5 205 5k
Nyl & ONg §FR
SR o xS &
3 z 2 5w
et Fa o e}
g 8 .¢ 4
& 502 gu
L mon <%
o o8
2 § oE
5 §5
E &. )
2 -
[+
[a)
0
=
Q
S
vy
;)
E | g
> 13 &
& = ©
a
9 £
— &)
3 3| &
2 &
8 |g &
& X
& PN
P
)
%)
=z
Q
2l
o
o
<
a
o
z
oaTe: 6/17/21
scate: N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5216

SHEET 5 oF 7

© zoz1 R.w. BUILDING DONSULTANTS ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub 1D...) OPAQUE X XX PANOLOCK - IMPACT\C - Drawings\TX-5216.dwg

6" — -
) ] |
l
. o
©E
HEAD & JAMBS
{TYP.]
X
>
<
=
« 0.
FRAME 2
{TYP.) ™= -
The head is allached to the jamb w/
(3} 7/16" x 2" steel crown staples (TYP.) . — 4" (TYP)) —!  j—¢"(TYP)
4" {TYP.) —» ‘
N R I
DETAIL 1 ?
.
— —l =
HEAD & JAMBS
(TYP)
X X
|— —_
>
CONCREIE o g
. o
— WOOD o -l dE
SILL DETAIL 2 &
- (Typ) —_
1 111 i I
5" (TYP.) —~ ] l—3rp)
4" [TYP.} —=
The threshold is attached to the jomb 4" (TYP)
wi/ (3) 7/16"x 2" steel crown staples &
{1} #8 x 1-5/8" wood screw {TYP.} FRAME ANCHOR’NG

9.31" FROM

SEE HINGE 3
T DEALT i )
< "
_<_,
5 @ ||| |
& (3PLCS))
SEE LATCH
h DETAIL
";r‘ 5;@? o —
oE SEE HINGE &
mE DETAIL 2
1) @ I A
¥
HINGE JAMB STRIKE JAMB

—
S
(3 PLCS.)
SEE LATCH
DETAILS ]
5
ASTRAGAL STRIKE

LT

20,
=(9)

HINGE DETAIL 1

DI

\N
W

@ ASTRAGAL

LATCH DETAIL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

o | a-//@
f'='2§
™~ [1ie— ]
\
\
HINGE DETAIL 2

A\

DS

@

\

\!

LATCH DETAIL

N\

1/2" DIA. HOLE
\

X

X

k"

ME}

@ JAMB

1/2" DIA. HOLE

® v} o

DETAIL2
Inswing

L.
U
:
L
7

WOOQOD
CONCREIE

DETAIL 2
Outswing

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Ry

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F-11852

ENDURA
PART _OR ASSEMBLY:
FRAME ANCHORING

PRODUCT:

NOJ DATE

REVISIONS

oaTE: 6/17/21

ScAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5216

SHEET 6 oF 7

© zoz1 rRW. BUILDING CONSULTANTS IND.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK - IMPACT\C - Drawings\TX-5216.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
B | 2XFRAMING (SG >=0.42) WwOOD
C | 1/4"MAX. SHIM SPACE -
D | 1/4"PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F | #10X2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
G | 3/16" PFH ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
K | #10 FH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1 | FINGER JOINTED PINE JAMB WOOD
7 | WEATHERSTRIP FOAM
8 | SWEEP PVC
9 | #9X3/4"PFH WOOD SCREW STEEL
10 | #9 X 1"PFH WOOD SCREW STEEL
11 | 4"X 4"BUTT HINGE STEEL
13 | INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
26 | #8 X 2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE (JAMB) STEEL
28 | LATCH STRIKE PLATE (ASTRAGAL) STEEL
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | ENDURA ULTIMATE PANOLOCK ASTRAGAL ALUM
51 | ASTRAGAL BOLT STRIKE PLATE STEEL
52 | #10X1-1/2" FH WOOD SCREW STEEL

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the cormers may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

MIN. CLEARANCE

W BUILDEX

TAPCON® 4"
DeWALT _ p
ULTRACON+

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws

fo prevent the splitting of wood.

>
o
0.75"

-
* »

VA~

r 14"

| 4.56" | [ 456"

13 Izl\iiﬂzgs ADJUSTABLE THRESHOLD 14 OUTSWING THRESHOLD
10BL4565

2.65"

0.062"

@ ENDURA ULTIMATE PANOLOCK ASTRAGAL

u
“n
e 0
T
Eo w b9
£ 3% 2 %""
S -2
0 u Om 0'
- N TH
L -E_"” -
c -~ -t
°‘£ EOQ 2z
BH T 02 55
>‘!— =T =X
2 J35© 0k
258 Qé
ZQS QB
= oM o
> O KO
m o o
o xz &
o Z 0 b
4 2 MW O%
g 2550
o 50¢ %}_‘-_’
& oo o 06
ne
P R E
5 k
£ ]
£ e;: 3)
Q
°
[
(7
k|
£
< pu
@ - IO
2 ¥ =5
[ 23
S
B oo
-
2 ==
e [sa)
5 ©
8 O
S |E
o o
>
m
[72)
Z
)
%2
o7
B
<
0
o
=z
oaTE: 6/17/21
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5216

SHEET 7 oF 7

© zoz21 R.W. BUILDING DONSULTANTS INC.



